S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR
B. Com. ABST I Semester
Assignment October, 2025
CORPORATE ACCOUNTING
Max. Marks: 20

Instruction to the Students: Assignment consists of 8 questions. Students are required to attempt any
4 Questions.

Bl & T A srmrsadAe & 8 we &1 ot & fFeel 4 oAl F 34X & gt

Section I (VS 3)

Q 1 Describe the meaning and objects of International Financial Reporting Standards.

SieRTPT farfta R ame! & ordf 3R Igdl o1 9 S|

Q 2 C.S. Ltd. had an authorised capital of Rs.40 lakhs divided into 4,00,000 shares of Rs. 10 each
out of which 3,00,000 shares were issued to the public for subscription. The terms of issue
were: Rs. 3 per share was payable on application, Rs. 2.50 per share on allotment, Rs. 2.50 per
share on first call and the balance on second and final call. All the amounts due were received
except the following:

From X holding 600 shares on' which allotment, first and second calls were in arrears.

From Y holding 400 shares on which first & second calls were in arrears.

From Z holding 200 shares on which second call was in arrears.

The directors forfeited the above shares and reissued them to A as: X's shares were reissued at
Rs. 9 per share, those of Y at Rs. 7 per share and of Z at Rs. 5 per share. Give Journal entries
necessary to record the above transactions assuming that A had paid the whole amount due
from him.

.oy, faffee & U 40 9rg U8 &Y HfdHd doit A, S 10 ¥9T Ufd TR F 4,00,000 VIR T
fauiora o, foFE & 3,00,000 TR ST BT SfYGH F T IR fhT TT A1 9 =7 BT 20t o
3fTded W 3 U Ufd TR, 3Mded W 2.50 ¥ Ufd IR, Tl AR TR 2.50 TUT Hfd TR 3R A9
ORI SR 3ifaw 7 W 37 3| FafaRed I Sieas it 37 ik i g s o

X & IR 600 TR 3, foF WR 3frde, ugalt 3R gust 7l S |

Y & U 400 IR 3, FoF TR Ugelt 3R gt AT daomar o |

Z P U 200 VAR Y, T TR IR |17 g At |

FERIT A IWIad AR BT Ted B AT 3R I8 A DI 39 UHR T: SRT B X & TR 9 39
Ufd IR, Y & MR 7 30 Ufd IR 3R 2 F MR 5 308 Ufd IR R GA: IR} [T 701 IR
AT DI Rapls B3A F e siraass S wfafdal &, a8 OHd gU fb A 3 399 &g O 1 &1
UGB Ao

Section B (HUS ®)

Q 3 What do you understand by redeemable Preference Shares? State the provisions of Companies
Act, 2013 regarding redemption of preference shares.
e AR ST 310 1 GH 82 SATRHI 3= b M S Fdoy H ol fffgH, 2013
& YAyl BT Iexid Bifoy |

Q 4 X, Y and Z has signed an underwriting agreement for 50,000 Shares of Mohan Lid. as under:
X for 30,000 Shares, Y for 12,500 shares and Z for 7,500 shares. In addition to it there was an
agreement for firm underwriting where company has agreed to issue 4,000 Shares to X, 1,500
Shares to Y and 5,000 shares to Z. The share applications of underwriters were unmarked.
Against 50,000 shares issued by company, received applications for 35,500 shares including
shares of firm underwriting out of which shares of X 5,000 Share, Y 10,000 Shares and Z
2,500 Shares were marked.



Determine liability of underwriters if:
(1) Shares of-firm underwriting are not included in marked shares.
(2) Shares of firm underwriting are included in marked shares.

X, Y 3R z 3 Aig fafiee & 50,000 DRI & 10 U fAiu= Iusid R g&er foaar §, o 39
PR &: X 730,000 3 P AW, v 3 12,500 320 F fow 3R z 7 7,500 32 & forw| 39 3ifafvam,
BH YA & forw e gwsiar o o1, forads siatfd U=t 3 X Y 4,000 372, Y BT 1,500 A 3R
Z Y 5,000 3 SR HA R TgHA oIad i g | T & 34 3mde ifafed A

$HUAT GRT SRT {6 T 50,000 3L & ¥, BH AN & 3= AR 35,500 AR & forQ
3fTde 9T §U, foH 8 & X & 5,000 32, Y F 10,000 3= 3R Z F 2,500 34 fafgd A
{fITgenT o1 ggar fRufia s afe:

(1) ®H AT F 3w ffga s & wnfara a8t g1

(2) BH YA & 3iw fafga o & Infia g1

Section C (WUS ¥)

Q 5 What do you mean by Managerial Remuneration? Discuss the provisions of the Company Act,
2013 regarding Managerial Remuneration.
USUD UIRYHS I 3T 1 JHA 82 Udusig URgiie & dey # budl sififgd, 2013 &
Uyl R = I

Q 6 The partners of Mantri Agencies decided to convert their partnership into a limited company
with effect from 1.1.2019. The consideration was agreed at Rs. 34,00,000. The company got
the certificate of incorporation on 1.4.2019. Meanwhile the business was continued on behalf
of the company and the consideration was settled on that day with interest at 12% per annum.
The company prepared its first final accounts on 31.3.2020 and prepared following
summarised Statement of Profit and Loss:

HAl T & FRERT 7 1.1.2019 (Ul AR Bl T ferfires bt 7 seem &1 fAufg femr)
3T& fAIT 234,00,000 BT R R FAM g3 1 HUT DI 1.4.2019 PI AT YATOGH UIed g3411 39
a9, HU BT 3R T I SRY @7 3R I &7 129 a1ftfer saret Afgd AR &1 Y o &
%ﬁﬁm.szozoﬁmm 3ifom o1 duR favar ok Fafafed dférd ar-g1 faazo

Rs. Rs.

Revenue from Operations (sales) 4,68,00,000
Less: Purchases of Stock-in-Trade 3,60,00,000
Closing Stock (32,40,000)
Salaries 23,40,000
Advertisement 14,04,000
Discount 23.,40,000
Depreciation 3.60,000
Miscellaneous Office: Expenses 2.40,000
Managing Directors Salary - 1,880,000
Interest 19,02,000
Rent 14,40,000

4,29,66,000

Net Profit 38,34,000

The company's only borrowing was a loan of Rs. 1,00,00,000 at 12% p.a. to pay the purchase
consideration and working capital requirement. The company was able to double the monthly
sales of the firm, from 1.4.2019 but the salaries was tripled from that date. The company bad to
occupy additional space from 1.7.2019 at a rent of Rs. 60,000 per month.

Prepare a Statement of Profit and Loss from apportioning cost and revenue between pre and
post incorporation period.



HUHT BT THHTE IUR 1,00,00,000 TG BT AT, S 12% Ufd a8 Bt & 9 60 G AR HrIMA Goit

DI TIFDH AT DI TR B P AT U1 U 1.4.2019 F 370t 14D f9eht Hi o3 T e o,

Afde I I Al F F= 71 81 a1 U Dl 1.7.2019 F 60,000 FYY Ufd A8 & fRT W

Sffcferd R &1 AT

gm@rujah?aﬁﬁmﬁrasﬁa AT 3R R $ fAUTSH & a1 3R g1 &1 fdavur dar
|

Section D (EUS §)

Q 7 Describe the concept of goodwill and explain the various. methods of its valuation.

A P HIYRUN BT JuH B TUT 30 Jedic- o1 fafir= faferdt &1 sarem 1

Q 8 The following particulars are available of Advani Export Ltd.:

(a) Capital: 45,000 6% Preference Shares of Rs. 10 each, fully paid up;
45,000 Equity Shares of Rs. 10 each, fully paid up.
(b) External Liabilities Rs. 75,000.
(c) Reserve and Surplus Rs. 35,000.
(d) Average profit after taxation; earned every year by the company, Rs. 85,050.
(e) The Normal Profit earned on the market value of equity shares, fully paid, on the same type
of company is 9%.
(f) Company transfers every year Rs. 10,000 to reserve.
Calculate fair value of share assuming that out of the total assets, asset worth of Rs. 3,500 are
fictitious or Other Non-Current Assets.
31 arui TeRie fafhies & Fafifad fdavor Suasy &:
(@) GSil: 45,000, 6% AT A 10 TG Ul 32, goid: Jobd;
45,000 3 3i=1 10 ¥ U 3721, gufd: gavanl
(@) dTel <gd1d 75,000 TG |
1) 3Rféa fAfdr 3R SRy 35,000 T
(&) T R Ufaay Sifofd SR & UgTa Siad a1y 85,050 93|
(&) I UPHR $1 HU-1 § guic: wgﬁﬂ%ww&waﬁhwwu% gl
(@) S Ffaay 10,000 ¥UA H H RIFARA Pl g
g A §U IR BT I Hed A1 BT fob ot uRFufrdl & 4 3,500 34T He D1 yREURAl
BT a1 3= TR-AT TRl ¢ |
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Instruction to the students/ &TaT &I fa&er

The assignment consists of Eight major questions. Students are required to answer any
four questions

IAGAHE 7 BF YW WA ¢ | BT 1 Tl TR 9eall & I A §

UNIT |

Q1 Prepare a Three Column Cash Book from the following transactions of M/s Neel Traders for
the month of April 2025:

el $38 % 31d¥er 2025 ATE & AT i@ da-aer @ et Fwsfa A3 G+ (Cash, Bank
3 Discount FTad Afgd) IR fifaw

April 1: Commenced business with cash ¥80,000.

April 2: Opened a current account in Bank of India and deposited ¥50,000.
April 3: Purchased goods for cash ¥15,000.

April 4: Paid rent by cheque %5,000.

April 5: Sold goods for cash ¥20,000.

April 6: Received cheque from Ramesh 10,000 and deposited into bank.
April 7: Paid wages in cash ¥2,000.

April 8: Paid to Mohan by cheque %12,000; discount received ¥200.

April 10: Cash withdrawn from bank for office use ¥8,000.

April 11: Received from Suresh %9,800 in full settlement of his account of 210,000. (Discount
allowed 200).

April 12: Paid electricity bill in cash ¥1,500.

April 13: Received a cheque from Anil 7,500 and kept for future deposit.
April 15: Deposited Anil's cheque into bank.

April 16: Purchased furniture for cash ¥6,000.

April 17: Paid insurance premium by cheque %3,000.

April 18: Cash sales %12,000.

April 20: Paid to Sunil 7,400 by cheque in full settlement of ¥7,500. (Discount received ¥100).
April 22: Withdrew cash from bank for personal use %5,000.

April 25: Received cheque from Rohit 15,000, deposited immediately.
April 28: Bank charges debited by bank ¥500.

April 30: Cash deposited into bank ¥10,000.



Q2. “Is the agreement of Trial Balance a conclusive proof of the accuracy of accounting books?"
What are the errors which do not affect the agreement of Trial Balance?

"FRT eI T TS ST IET-GETRT ST eIl T HTTH FAOT 2 F Hi=A-2r Jfear g S
derae** & TR ST THIAd 78] Sdi?

UNIT II

Q3. Vaibhav and Company had four departments A, B, C and D. Each department being
managed by a departmental manager whose commission was 10% of the respective
departmental profit before this commission subject to a minimum of 6,000 in each case.
Inter-departmental transfers took place at a 'loaded' price as follows:

d9d UUS HFTeAl & A, B, C I D IR 33197 § | Ycdeh TaHRT & Heetl Ueh [T Yeotieh gany
fomar ST €, Fordy weafeera fsmmeT & amer (AaoR & Fafier @ ) &7 10% Farer aa g st 6
IS TAHENT Jaetreh & [T HA-8-57 € 6,000 81317 | 3eafdHeiT TATHATEAR0T HTRA (Loaded)
oI W 5 9ohR fhar Srar g

From Department A to Department B. 10% above cost

From Department A to Department D.  20% above cost
From Department C to Department D. 20% above cost
From Department C to Department B. 20% above cost

For the year ended 31st March, 2020 the firm had already prepared and closed the
departmental Trading and Profit and Loss Account. Subsequently it was discovered that the
closing stocks of departments had included interdepartmentally transferred goods at loaded
price instead of cost price for which provision of unrealised profit included is such stock has not
been made. From the following information prepare a statement re-computing the departmental
profit or loss:
31 AT, 2020 S AT gleY aTel IY & oI Fa 79T SAMIR TUT ATH-g1eY WIaT IR R Fog,
TehT AT| $8h &1 T TelT foh [497 & 3Hieas Teih # Irdfasmig TR R RAEEIRT Al SR
Hed (Loaded Price) wanﬁﬁﬁmﬁa‘ﬁm Haﬂﬂgqamﬂmaﬁﬁvmw%l
AT a3 & U RT3 SRR X Rl amer-gifer Y a7: aTorer R

Q 4.How are the items in the foreign Branch Trial Balance converted in the Head Office books
for the purpose of their incorporation in the books of the Head Office ?
fageft o & derae T Hel s JeTeT FHraferd H Tl 7 fhd Fohr aRafda s gamfaa frar
ST 872

UNIT Il
Q5. Bobby Ltd. had taken out a loss of profit policy for 4,50,000 being 1,95,000 for net profit
and %2,55,000 for fixed expenses. Expenses to the extent of ¥ 50,000 were not insured. During
2021 the company earned a net profit of ¥ 1,35,000 after charging 3,05,000 standing charges



on a sale of ¥48,75,000. On 1st June, 2022 there was a fire as a result of which sales suffered a
great deal for a period of 5 months. The actual sales out 2021 and 2022 were as under:

arer fAf&es &  4,50,000 T o137 ST @1fey Giferdr o forge 21,95,000 JICH 87 Td ¥ 2,55,000
TR =t & FAIT #1 2 50,000 3 sa AT A8 | aF 2021 # T 48,75,000 Fr AT W 2

3,05 Uooﬂ?ﬁﬂ'r—mﬁﬁmshﬂﬁézq?mm?ﬁ#ﬁ 35,000 T QYT SIS HHAT AT| 1 57
2022 ﬂmwﬁmﬁwmﬁﬁﬁmmm@ 2021 & 2022 T arEATaH
fSfsrar afaf@a g

2021 2022 2021 2022
January 3,00,000 3,30,000 July 6,00,000 75,000
February 3,00,000 3,30,000 August 5,10,000 90,000
March 3,75,000 4,12,500 September 4,50,000 1,20,000
April 3,75,000 412,500 October 3,75,000 1,65,000
May 4,50,000 4,95,000 November 3,75,000 2,25,000
June 5,40,000 75,000 December 2,25,000 2,70,000

The indemnity period according to policy was 4 months. 3,000 was spent on putting the fire off
and additional expenses as a consequence of fire were 24,042 but a saving of ¥ 4,500 was
affected. Towards the end of 2021 a machinery was installed which would have resulted in a net
saving equal to 2% of sales in cost of production.

GiferT & 3TaR &ifagfc 3raftr 4 Atg Ar| 23,000 31797 FST # @ &7 I TG 37T 971 o HRUT 2
24,042 3 3Rt S 7 TR ¥4,500 i aet 8 g§1 2021 3 3 3 v e Y FATIAT Fr
T foEs aRuTHTERT T 3cUTE AT 7 2% o aXTeR YT FeId gref|

Q6.How would you determine profit or loss of the year from records kept on Incomplete
Accounting System ? Explain.

3YUT oI JOTTell 9X & 91T HiFIE! ¥ 319 a9 1 o1et A1 g1fed H8 feiRa 3 aasse)
UNIT IV

Q7. Differentiate between Hire Purchase System and Instalment Payment System.

ﬁr{mwmﬁ?ﬁﬁwmtmmml

Q8.The following are the details of the spare parts of Shri Ram Mills:

Date

1.1.2022 Opening Stock Nil

1.1.2022 Purchases 100 units @30 per unit




156.1.2022 Issued for consumption 50 units®
1.2.2022 Purchases 200 units @ 40 per unit
156.2.2022 Issued for consumption 100 units
20.2.2022 Issued for consumption 100 units
1.3.2022 Purchases 150 units @50 per unit
156.3.2022 Issued for consumption 100 units

Find out the value of stock as on 31.3.2022, if the company follows: Tfe Fa=i AF=TaAT
TEIR &Y HYATT A 31.3.2022 FY Tl T He AT F:

1. First in First out basis.

TUH HETHA TUH AT 3w

2. Last in First out basis 1.

3Tedd AT TUH FRTHT 3R]

3. Weighted Average basis.

ARG 3T 3R
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Instruction to the Candidates / ifj{kkfFkZ;ks a ds fy;s funZs’k
Assignment consists of SIX major questions. Students are required to answer any TWO
questions. vlkbuesVa es aN% izeq[k iz”u gsSA Nk=ks a dks dksbZ nks iz”uks a ds mRrj nuss gsSA

Section A ([k.M v)
1. What do you mean by Operations Research? Explain briefly various models used in operations

Research.

fchar Yy F 3T JHSId &2 Afchar Xy & IUANT H & o4 ardl fafirst ufaeul ! dau o
qUE |

2. An electrical company manufactures around 205 Fans. The daily production varies from 200
to 210 Fans depending upon the availability of raw materials and other working conditions.
The production probability per day is as follows:

U HUAT 205 GF §9IdT & | S A DI ST U9 3= IR & MUR R S
IATG 200 F 210 P A BIdT g1 <[P I B Uiibdl 99 UHR &

Production Per day Probability
(&F® IareA) lBET)

200 0.04

201 0.09

202 0.12

203 0.11

204 0.11

205 0.10

206 0.20

207 0.02

208 0.08

209 0.05

210 0.08

The finished meters are transported in a specially arranges lorry accommodating 205 meters.
You are given the following random numbers:

IIfed U8 &1 U A=W @ikt & GRT T & 205 ARI 1 3, 3UD GRT GER RIFI IR WSl
ST gl
TIP! 4 ATefas® 3id [GU T 6:

80, 81, 76, 75, 64, 43, 18, 26, 10, 12, 65, 68, 69, 61, 57
Simulate the process to find out the following:
(i) Average number of fans waiting in the factory. (ii) Average empty space on the lorry.



UL U1 & YR WR (A9 &1 J1d B
(1) Trardt T vrclten o ofira Tier & Tve

(2) AR H 3N @ret I

3. Explain the meaning of Inventory Control, Discuss its various techniques in brief.

It AT & 3179 T GHAA B2 SHP! Q0T db-1p] ol JaU § qui Hiford

4. A Bank counter window has a mean service time of 5 minutes. Customers arrive at the rate
of 8 per hour. Assuming these represent rates with a Poisson distribution, find out the

following:

Section B ([k.M c)

(a) What percentage of time will the counter be idle?

(b) How long will it take the average customer to wait in line and be served?
(c) What fraction of customers will have to wait in the line?

Ush o P aT g BT 3NTd Ja1 JHY 5 e &1 IuHiad ufd b 8 Bl R I 3d g1 afe 34

& &1 §ic Wigy- o (A9 &1 7H 1d Siford::

(a) Torc Ufa=Id THg db Jdl g UG T2
(b) UAH U P! Hdl [ I deb Yl g R Xg-1 8N
(c) T 3rguTd & IuUiert &1 HaR | Ydian B ghfl?

Section C ([k-M |)

5. Describe the various decision criterion under certainty.

fAfaraar ot Rufa & fAofaa =1 fafte saifeal &1 I Sifo

6. A decision matrix with cost data is given as under:

ARTd ! & iy kg @it e UeR &
Alternatives State of Nature (3{dR)
{ﬁw) S1 Sz S3 Ss
A1 17 11 10 12
Az 16 16 13 14
Az 18 12 15 12
Aq 20 15 12 18
Find the best alternative using:
a. Maxi-Max Criterion
b. Mini-Min Criterion
c. Mini-Max Regret Criterion.
PR Fad fdbed &1 994 Sifod

(i) 3P & 3ifdpdd HaIct

(i) A I

(iii) SFABTH J =LTqH HAI!
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Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt any 3
Questions.

BrEl F AT A 3msadc & 6 ue 1 omEr & fFegl 3 oA F AT S gt

PAPER I: Income Tax Law
Section A

Q 1What are the different categories in which an individual assessee can be divided with regard
to residence? Explain in brief.

gfSe FEar Hf Had T & 3R R haar Ao & ssa ar a1 @ar & 2
Fieeq # guia fifau)

Q 2 Shri Ramesh Chandra, a resident of India is employed as Manager in a Cloth Mill of
Bhilwara. The particulars of his income for the assessment year 2025-26 are as under-

(1) Salary @ Rs 50,000 p.m. Shri Ramesh went Germany for three months in concern with the
office work. He received his salary for the said period in Germany.

(ii) Dearness allowance @ Rs. 5,000 per month which is payable under the terms of
employment.

(iii) Rs. 25,000 as Bonus.
(iv) Employer's contribution in Recognised Provident Fund Rs. 90,000.

(v) Employee's contribution in Provident Fund Rs. 90,000. The employee has paid the
contribution in this fund from the salary mentioned above in clause (i).

(vi) Interest credited to his Fund @ 12% per annum amounted to Rs. 48,000.
(vii) He gets Rs. 40,000 from his employer as Entertainment allowance.

(viii) His son is studying at Pilani where he lives in a hostel. To meet the hostel expenditure of
his son his employer has granted him a special allowance of Rs. 1,800 p.m.

(ix) The Company has provided him an unfurnished house without any charge. The fair rental
value of this house is Rs. 33,600. The house is owned by the company.

(x) He has been given facility of a cook by the company for which company pays Rs. 4,000 per
month.

(xi) For the maintenance of the garden of the house provided by the employer free of rent the
employer has provided the facility of a gardener to whom the employer pays Rs. 2,400 per
month as salary.



(xii) During the year Mr. Ramesh purchased 40 metres of cloth at a concessional rate of Rs. 50
per metre, while the manufacturing cost to the company is Rs. 200 per metre and sale price is
240 per metre.

(xiii) Assume that the populations of Bhilwara is less than 10 lakhs

Compute income from salary of Shri Ramesh Chandra assuming that his employer as paid a
sum of Rs. 2,500 as tax on employment on his behalf.

A AT FT ARG H AT g, didarer # v F9gT AT # Yaeds F 9 W FT W
T | F-AUROT ¥ 2025-26 F FEaeT H 3ART I FT R0 FeA §-

(i) 3dT 50,000 &. FfAAE| (3 Y I3IA FEET F FF F fov d7 A% F T FAA
I | Iogid 3Fd AT FT ddeT ST & gred Har|)

(ii) FEIMS 9T 5,000 3. UTAHATE ST FaT Al & ded ¢ ol

(iii) =TT 25,000 5.

(iv) THTOIT Hidisve ®us H fAAFar &1 3irere 90,000 3.

(v) FHIAN T GdISUC HUS H AT 90,000 T| FHIANT o 5T BUS H 3i2ASTT 3WIFd
areFd (i) H SooliQ@d ddel T TRY & & & &=r g1

(vi) ITdSUC BUS H 12% iday sareT T aX & Fol 48,000 T. T AT STAT femam ram|

(vii) 3e¢ 3Ta0 AFAT T 40,000 7. TF AR 9T & & H 9©d giaT gl

(viii) 37T Teh oIS =T H 3EIAT FX T@T & I8! 98 gl¥ed H I§dT gl oS+ &
grecel eadl T gid g AT GarT 37! 1,800 . SidAg 1 & & faRrse smr fear
ST TET Bl

(ix) FFFAT A 3R el & AT U HPASAT FFT AT & @M B1 38 AHA 1 37
R 33,600 3. a1 §| Ig FFT Foger &7 gl

(x) FFTAT & 3Tehl Teh IAISAT AT Fiawm Jerd H § T o Fauelr 4,000 = vfdae
AT Xl g

(xi) fTIFAT SaRT HET T & o 16D 917 Fh & ofrd T @ & v f@gerdr
A 3¢ ATCl I Flam vare 1 § S Ferar 2,400 3. 9fd & da &ar gl



(xii) ITT TY & SR AT o FFUr T 40 HeT FUsT 50 F. gid Hed 1 R@Id ¥ |
%I forar STafd weaelr it Ao arerd 200 €. 9fd e O aur @ 7o 240 & 9fa
Hrex |

(xiii) Tg AL T Hiorarsr Fr FaaEar 10 o@ & FH g

IHATeg, ST dded %maﬁrmﬁmwmﬂﬁ?ﬁﬁvﬁ:mﬁtﬂﬂﬁmﬁ
RE F PSR R W T I & FFaed H 2,500 . F 3T 5T &

Section B
Q 3 What is meant by annual value of house property ? How would you compute the "income from house
property" of a let out house ?

FH FFRT & aF HAed § T a9 ¢ 206 R W 38™ 1 F7FH H “AF FFafd
T 3" F I0ET T FH FET ?

Q 4 From the following information submitted by Mr. Dinesh Sharma for the previous year
2024-25 you are required to find out the amount of deduction which is to be allowed in the
computation of his income under the head 'Business and Profession' for the assessment year
2025-26-:

He Purchased the patent rights on 15" December, 2024 for a period of 10 years and lump sum
payment of Rs. 2,00,000 was made for such right.

(ii) He obtained rights to use spectrum for telecommunication services on December 15, 2024
for a period of 8 years and lump-sum payment of Rs. 6,00,000 was made for such right. He also
acquired a technical know-how from an Indian company for a lump sum consideration of Rs.
1,00,000 on July 15, 2024 for a period of 8 years.

(iii) He obtained a telecom licence on June 1, 2024 for a period of 10 years, the licence fee being
Rs. 5,00,000.

A fearer QAT GanT I ¥ 2024-25 % TR e T FAANT § TR F-fAUROT A
2025-26 & oI SAYR 3712ar 9 S AT T A0 X AT Feldl & & H Fdihc I
ST STell AT ATT FET 6

(1) 381 Ueve 3R 15 fEeaR, 2024 #t 10 a¥ &t 3™ & v Ha Fv qur s
IRR & AT 2,00,000 . FT TH FIA A |

(i) 3giet 15 fGFaR, 2024 &7 8 a¥ & o ¥ FOR Fa3if & o oA & wAhr &
ISR 9o foham T 38 ISR & oI 6,00,000 . T Th-HA A fohAT| Sogiet
SIS 15,2024 FI 37 Toh $RAT Hodet & 8 a¥ HT afer & o 1,00,000 & FH Th-
HIT $ITATT FXeh hellenl AT ATC R



(iiii) 35811 137, 2024 1 1038 F ¥ GT-HAR Qam3i & Hareled H ABdew 9red fHar
forgehT oiIgd=w Yok, 5,00,000 T, AT|

Section C

Q 5 Shri Shyam purchased 500 listed shares of PQR & Co. Ltd. on 15-7-2008 for Rs. 72,000.
He was allotted S00 bonus shares of the said company on 18-2-2009. He sold all the 1,000 shares
of PQR & Co. Ltd. on 27-6-2024. The net sale proceeds received is Rs. 5,90,000. Find out the
amount of taxable capital gain of Shri Shyam for the assessment year 2025-26. Calculate also
the amount of capital gain or loss, as the case may be in the following cases:

(a) If Mr. Shyam sells only 400 bonus shares.
(b) If Mr. Shyam sells only 250 original shares.
What difference would it make if bonus shares are allotted on 18-2-2023 instead of 18-2-2009?

The cost inflation index for the year 2008-09 is 137. Assume that the shares are sold outside a
recognised stock exchange.

A A A o FY IR T Frdedl fAAES & 500 GhAd 30w 15-7-2008 H1 72,000 T. H
G| 3P 18-2-2009 F TH FFel F 500 SlaTq 37 Iafead By | 3ol oF 7
3R FHFdelr faffee & |l 1000 37r 27-6-2024 =T 97 G| fasha & 5,90,000 T. T eer
TRY gred g5 Y AUROT a¥ 202526 & ol A A & F-AIT Yol o H A0
ST

foreeT qematt A o gl st 3 air gife, S of Refay &), arorer Hife

(37) TG AT 2T hadl 400 Sid 372AT HT1 [AHT HIAT g

@) TfE A A Faer 250 FHer 72T F GHT FAT &1 FAT B I3 ARG Sletd AT F
3fTdce 18-2-2009 & ST 18-2-2024 i fohar Srar &2

a¥ 2008-09 FT AT Jeil Faehish 13781 Tg Ad T 30 &1 fashg JATMoIa Eohetr
RfFAT & Tl 5ar Jar g1

Q 6 Explain any two deductions to be allowed expressly in computation of taxable income under
the head 'Income from other sources.'

3 el § R M Y F-ATT T H AT FA FHT TISCAAT Fihd H AT
arelr fheel ar elfaar i gHEsEsY |



PAPER II: Elementry Cost Accounting

Section A

Q 1 Explain different techniques of costing.

ANTT d@iF (TReTTTH) A A A FF Fasmy |

Q 2 calculate the following from the information given below:

R & 7§ gt ¥ faf@a @ fifgw

(a) Re-order Quantity; (b) Re-order Level; (c) Maximum Stock Level;

(d) Minimum Stock Level; (e) Average Stock Level.

'ﬂjﬂ'ﬁ (Data Given) :

(i) Total Cost of Purchases 40 per order;

(ii) Purchases during the year 10,000 units;

(iii) Purchase price 100 per unit;

(iv) Storage cost 5 per unit per year

(v) Re-order period (Level Time) : Average 20 days; Maximum 30 days and minimum 12 days.

(vi) Consumption: Average 30 units per day; Maximum 40 units per day and Minimum 20 units per day.



Section B

QQ 3 Shriyansh Ltd. has three production departments A, B and C; two service departments P and Q. The
following is the primary distribution summary for the period ending 31st March, 2025:

sfrarer s & 9 3cares QAT A, B dUT cUd & dar f@umr pT Q1 31 AR, 2025 FY
ATCA A § Feafeud 3UReTAl & Ao Rawor & R A R §-

Departments | A (X) B (X) C(x) P(X) Q(x)
Primary 16,000 14,000 10,000 4,680 6,000
distribution

of overheads

Service 20% 40% 11 17 — 10%
rendered by :
Service

Department P

Service 40% 20% 20% p 11 /2 [ ——
Department
Q

Ascertain the actual expenses of service departments P and Q using trial and error method.

QQ 4 What do you mean by labour turnover? Discuss the various methods of its measurement and
explain what is the impact of 'Labour Turnover' on working of a manufacturing concern.

A e ¥ 3T FAT FASA ¢ 2 58 Aa A [{Affie [ ) aqese @ ow @A
FET AT FAYH W HA-TAwRT T FIT 96T 9391 § 2 FHSEY |



Section C

Q 5 From the following particulars prepare a Cost Sheet of the Jaipur Brick Works,
indicating cost and profit per 1,000 bricks.

forefat@d faxoll & 3R @« 9id 1,000 St HT SR 9 g & fov omerd aar
mmﬁﬁ?wmqﬁraﬁ@:

Wages (clay-getting, machines , drying, burning, Drawing, sorting, loading) X75,000
Coal: 50 tons @750 per ton.

Royalties @ 0.75 per 1,000 bricks

Depreciation of Plant and Machinery at 10% of capital outlay X 1,50,000.

Removal of over burden at 50 paisa per 1,000 bricks

Works overhead at 10% of wages and coal used

Office overhead at 8% of works cost.

Bricks made: 1,01,52,284, allow for waste 1.5% of output

Bricks sold: 80,00,000 at 20 per 1,000
Stock of Bricks (opening) 20,00,000
Stock of Bricks (closing) 40,00,000

Q 6 What value do you attach to the reconciliation of cost accounts and financial accounts ? Explain the
main reasons for the difference in the profits shown by the two sets of accounts.

faeirr @l aur s dEl § R # T F4 Aged 7 2 O TER F @t gErt weRia
Y A F e’ F FRON F FAABC |
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Department of Accountancy and Business Statistics
B.COM SEM V
ABST II
Functional Accounting

ASSIGNMENT

Max.Marks-10

Instructions to Students: Assignment consists of 6 questions. Students are required to
attempt 3 Questions (1 from each Unit) Write questions in at least 500 Words with good
presentation

ST & forg S 3rargTiie # 6 UY B 1 BTl BT 3 UHT BT IR ST ATASD g1 YD IBIS T | UH) |
TS IR § HH U HH 500 e g 913U 3R 3 o3 uxdfa & 1y ferd|

Questions from Section A:4 Marks ISP AT TT 4 35F
Questions from Section B:3 Marks sErsf BH YT 3 3+
Questions from Section C:3 Marks s?ﬂg CHIT 3 FF
Maximum marks : 10 o 5+ :10
Unit I

1. The following particulars are available of Advani Export Ltd.:

(a) Capital: 45,000 6% Preference Shares of X 10 each, fully paid up;
45,000 Equity Shares of X 10 each fully paid up.

(b) External Liabilities X 75,000.
(c) Reserve and Surplus 35,000.

(d) Average profit after taxation, earned every year by the company X 85,050.



(e) The Normal Profit earned on the market value of equity shares, fully paid,
on the same tyre of company is 9%.

(f) Company transfers every year 310,000 to reserve.

Calculate fair value of share assuming that out of the total assets, assets worth
X3,500 are fictitious or Other Non-Current Assets.

3T Taure for. & FaferRad faavur Jueisy & -

(a) Uit : 45,000, 6 Ufa=Id 320 310 BT YA P, Julad; 45,000
Sict 3% 310 BT U, |

(b) STel &1 % 75,000 |

(c) T=d T4 31T z 35,0001

(d) HIt gRT Ufd a¥ R &b YT HHE T a1l BT 34 < 85,050.

(€) 3 UPR Bl HHA! gRI sievc! 3=, Iof Uad & ek Jed TR G
Y R 9 Ufa<rd g

(f) S Ufd 99 % 10,000 TG H BXITINRT Bl B

g OFd gU fob pot il § 9 3,500 1 HAT FrUftl 3= IR 1 Ff
2, 3 BT IRId Y F1d BT

2. Explain the concept of goodwill. What factors should be kept in mind
at the time of valuation of goodwill? Discuss the various methods of
valuing goodwill.

w1fa A 1 I 82 Teh ATUR &t WA B! JHAId: B I gedh UHIfad
B g2 BId P Gedid &1 [afe faferdy &1 qufq sifom)

Unit I1

3. Ritansh took a mine on lease for a term of 25 years from 1st January, 2020
paying a minimum rent ofX 20,000 per annum, merging into a royalty of 20 per
ton of cost raised. The lease contains a proviso to the effect that if the minimum



rent paid in any year exceeds the royalty for the year, the amount of the excess
may be recouped by the company out of the excess payable in the following two
years of such short-workings with the condition that if full short-workings could
not be recovered in next year, they will lose the right to recover 25% of
irrecoverable short-workings. Coal was raised as follows:

Year 2020 2021 2022 2023
Output (In 300 800 2,000 1,500
tons)

Show the ledger accounts in the books of Ritansh and how the items would
appear in the Profit and Loss Account and Balance Sheet.

1 SHdRt, 2020 DI BRI 4 Th WM 320,000 YAdH A a1 e ™
PIOA W 2 20 Ufd o UBR Yeb & 1Y 25 I & oW gg W ol I &
1Y g 98 Td T TR 6 e 1 gHdw Rl & Widd sfieR
Y I B | W 3 AR AR B USRI AR F F dYP &
AT &I AN & a9 I1 off Tobdl § IR 1Y &1 rd ot g fop afe gof agerd
fR AT a9 F 9 9 P ol b ol 9 9 IGait PR A BT 25 U=
fYBR Wl &7 | (BT a1 Sigar FHafaRad o :

ay 2020 2021 2022 2023
3dred (el | 300 800 2,000 1,500
)

B Bl Y] H WId S50 T4 d14-g1H T1d Td fae 4 4¢ fa yaR
fagars s

4. What do you mean by Investment Accounts? What are the objectives of
keeping Investment Accounts? Explain the meaning and accounting treatment
of the term "Cum-interest" and "Ex- interest".

fafraiT T & T o ® 2 fafah @ s & aar IR 82 S
Jfed 9 <719 Ifgd Hel &1 f[dWR I 31 §d1d gU 3% AAl-TdgR &l WY
HIfoTg|




Unit ITI

5 .Write explanatory notes on:

(1) Goods in transit

(i1) Inter-branch Transactions

(111) Cash in Trans

(iv) Depreciation on branch fixed assets.

9 IR IRATHS Iy ferd:

(i) AN & A1,

(ii) 3FR-XRIT AR,

(iii) AT H AP s,

(iv) TRET B! R Uil )R o7 g9 |

6. On March 31, 2024 Alka Traders having three departments-A, B and C
supplies the following information and asks you to prepare the Trading and
Profit and Loss Account and Balance Sheet for the year 2023-24:

31 HH, 2024 DI, 3] for., 5GP o= fauTT A, B U1 C B, 3mas!
frafafed Yad a1 8 3R a¥ 2023-24 & fo1T 3TUY IR TG A1H-81H
1T YT fRIgT S &) gl -

Deptt. A Deptt. B Deptt. C
Purchases 3,600 3,000 2,400
Sales 7,500 6,000 3,000
Wages 1,200 750 390
Opening Stock 3,000 3,600 1,500

On that date the closing stock of any department could not taken, but it was
estimated that the Gross Profit will be @ of 40%, 30% and 20% of sales
respectively for A, B and C departments. Other expenses are 810, which are to
be apportioned in the ratio of Gross Profit. Charge depreciation @ 10% on
buildings and distribute it in Sales ratio.

39 fad foat ot faurt &1 sifaw = 9 forn S 91, IReq g8 3HH
T 747 b Gobd a4 fabl & 40%, 30% dUT 20% HH: A, B dUT C



fayrT & fog ol 30 =g 810 ¥, ST ¥Hhd A1y & 3gdrd H fauiford gla
&1 HaT W 10% B H1ey 3R 39 faeh! & 3urd ¥ §ifeu|

Other balances on March 31, 2016 were CreditorsX 1,500; Debtors34,500; Cash
450; Bank 4,500, Buildings 9,900 and Capital 22,500. The drawings of the
proprietor were 900.

31 AT, 2016 B 39 QY AW 4- TR X 1,500; &R T 4,500; AP
3450; §& % 4,500, Ha 39,900 TG YSHt % 22,500 | TaTH! & TEUT T 900 Y|
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Instructions to Students: Assignment consists of 6 questions. Students are required to
attempt 3 Questions (1 from each Unit) Write questions in at least 500 Words with good
presentation

ST & forg FEr: srmg-He # 6 % 81 BT &1 3 UHl &1 IR &1 AP ¢ | YD 3H1S I UY) |
TS IR § HH U HH 500 Ueg g 913U 3R 3 33t uxdfa & a1y ferd|
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Questions from Section B:3 Marks sErsf BH YT 3 3+
Questions from Section C:3 Marks g?ﬂﬁ CHIT 3 FF
Maximum marks : 10 DA #F :10
Unit I

Q. 1. What is ‘Internal Audit’? Mention its objects and advantages.
3R SHBEUT T 5?7 TUD Ie4! SR ATHI BT Ieerd R |

Q.2. What is an audit programme? How should it be constructed? Give essentials of a good audit
programme.

3P EIUT HAHH T g2 I P §1AT ST TIRT? U 35 eyl HRIhH P T TS dld
§dI3U|

Unit IT

Q.3. “Vouching is the backbone of auditing”. In the light of this statement discuss the importance of
vouching, giving some case laws.




"TATUM 3HHE0 DI G ¢ 1« TH HYT P UPIRI H $S HY S| I garell &d g¢ YAV & Hgd
R Tl B

Q.4. How company auditor is appointed? Explain provisions as per Companies Act, 2013.
HUT e DI Agfad Hd B Sl g2 HUT AMFH, 2013 F WAL B AR B |
Unit IIT

Q. 5. What is a ‘Qualified Report’? Distinguish between a ‘Clean report’ and a ‘Qualified Report” of
an Auditor.

ag GldeT &1 52 T Sidbefd B e fdded' 3R a1 ufdde ' & oid 3iaR aarsu|
Q.6. Discuss the rights, duties and liability of an auditor.

U 3ihed P HUPR, Hd 3R g R I B
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Instruction to the students/ Renfff @ o A<

The assignment consists of six major questions. Students are required to answer

any three questions

gargTIe ¥ O g4 § & el # fagl o7 gea @1 Scav &1 HIavdd &

Section-A

1. SR ¥ 3T T 99 80 S9! e Al &I aHsed |

What do you mean by Tax Planning ? Explain its main Characteristics.

2 HR AT, B UdaH, HY 9919 Ud R Y= 9 A T GHSIT 87 39 aRI 9eal

H IR W P |

What do you understand by tax planning, tax evasions, tax avoidance and
tax management? Differenciate between all the four words.

Section- B

3. TSl A 9T 2 AR AREH & YUl P SO H I@d 8¢ AW fhE yBR goll
ATl BT ~gATH DR FDh A |




What is Capital Gain? How will you reduce or minimize capital gain tax on

the basis of provisions of the Income Tax Act.
grT 80C # Wi weldl o fad=mr S |

Discuss the deduction allowable U/S 80C.

Section -C

What do you understand by Tax Planning for Managerial Decision?

yg=rr fAviar § &v Ao 9 s = g9usa 27

Analyse the tax planning process with reference to capital structure decision

of an organisation.

% HISA Bl Goll dxal Tl (o & a9 H &) Fio ufdar &1 fageiyor
PN |



